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Bridge

Famous Hand

Strange things sometimes happen in
world championships. Consider this deal
from the 1972 Olympiad where Italian stars
Walter Avarelli and Giorgio Belladonna got
to six notrump against France.

Belladonna, South, followed low from
dummy on the spade lead, East winning the
trick with the king and returning a spade to
the queen. To Belldonna, there didn’t seem
to be much to the rest of the play, but when
he next led the king and another diamond
to the ace, the diamonds turned out to be
divided 5-1.

Undaunted, Belladonna cashed the Q-J
of diamonds and ace of spades, producing
this position:

North
[H] A K Q 5
[C] A 9
West
[H] 10 8 4
[D] 10
[C] Q 7
East
[H] J 7 6 2
[C] 10 5
South
[H] 9
[D] 7
[C] K J 8 2
The A-K-Q of hearts were next cashed,

declarer discarding a club and a diamond.
The A-9 of clubs were then played. When
East followed with the ten, Belladonna had
to decide whether to finesse the jack or play
the king. As usual, he guessed correctly,
going up with the king to make the slam.

Unfortunately, Belladonna’s fine effort
proved to be totally wasted! Soon after-
ward, it was discovered that the hand had
been brought to his table in error from the
women’s championship being conducted
simultaneously nearby. So Belladonna’s
result did not count — but he might have
been well rewarded for his effort had he
been playing in the women’s event!
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts
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Conceptis Sudoku by Dave Green

Difficulty Level 2/19
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